CITY OF KENT PROJECT NAME: North Park Storm Drainage Improvements BID OPENING: August 30, 2011 @ 11:00 am		BIDDER'S NAME AND ADDRESS		1 King Construction 982 Thornton Pl. SW Pacific, WA 98047		2 Nor Tec Construction, Inc. 6319 - 112th St. E. #5 Puyallup, WA 98373		3 Reed Trucking & Excavating 2207 Inter Ave., Suite A Puyallup, WA 98372		4 Road Construction NW P.O. BOX 188 Renton, WA 98057-0188	
		TOTAL			\$176,178.05		\$198,424.95		\$223,424.90		\$226,087.94
ITEM					TOTAL		TOTA		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN <sup>*</sup>	T UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHEDU	LE I - STORM SEWER BETWEEN 5TH AVE. N. AND 4TH	AVE. N.									
1000	Mobilization	1	LS	\$7,350.00	\$7,350.00	\$7,000.00	\$7,000.00	\$10,000.00	\$10,000.00	\$4,500.00	\$4,500.00
1005	Clearing and Grubbing	1	LS	\$2,135.00	\$2,135.00	\$1.00	\$1.00	\$4,000.00	\$4,000.00	\$2,250.00	\$2,250.00
1020	Remove Cement Concrete Sidewalk	11	SY	\$20.00	\$220.00	\$30.00	\$330.00	\$60.00	\$660.00	\$33.00	\$363.00
1025	Remove Cement Concrete Curb and Gutter	10	LF	\$15.00	\$150.00	\$15.00	\$150.00	\$20.00	\$200.00	\$33.00	\$330.00
1055	Saw Cut Existing Cement Concrete Pavement	20	LF	\$2.00	\$40.00	\$10.00	\$200.00	\$200.00	\$4,000.00	\$23.00	\$460.00
1080*	Crushed Surfacing Top Course, 5/8 Inch Minus	32	TON	\$49.00	\$1,568.00	\$28.00	\$896.00	\$30.00	\$960.00	\$33.00	\$1,056.00
1135	Cement Concrete Driveway, 6 Inch Depth	6	SY	\$220.00	\$1,320.00	\$125.00	\$750.00	\$125.00	\$750.00	\$123.00	\$738.00
1145	Cement Concrete Sidewalk	6	SY	\$220.00	\$1,320.00	\$100.00	\$600.00	\$110.00	\$660.00	\$123.00	\$738.00
1205	Cement Concrete Curb and Gutter	15	LF	\$15.00	\$225.00	\$60.00	\$900.00	\$50.00	\$750.00	\$123.00	\$1,845.00
1266	Remove and Restore Chain Link Fence	1	FA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
1268	Remove and Restore Wooden Fence	1	FA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
1270*	Temporary Fencing	190	LF	\$1.00	\$190.00	\$2.00	\$380.00	\$3.00	\$570.00	\$3.00	\$570.00
1315*	Pothole Utilities	3	EA	\$500.00	\$1,500.00	\$100.00	\$300.00	\$500.00	\$1,500.00	\$323.00	\$969.00
1355	Minor Changes	1	CALC	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4005	SDR 35 PVC Storm Sewer Pipe, 6 Inch Diameter	6	LF	\$43.00	\$258.00	\$150.00	\$900.00	\$100.00	\$600.00	\$75.00	\$450.00
4012*	SDR 35 PVC Storm Sewer Pipe, 8 Inch Diameter	312	LF	\$72.00	\$22,464.00	\$46.50	\$14,508.00	\$60.00	\$18,720.00	\$106.00	\$33,072.00
4080*	Catch Basin, Type 1	5	EA	\$1,250.00	\$6,250.00	\$650.00	\$3,250.00	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00
4115*	Bolt Down Catch Basin Frame and Grate	5	EA	\$207.00	\$1,035.00	\$250.00	\$1,250.00	\$300.00	\$1,500.00	\$500.00	\$2,500.00
4155*	Foundation Material, Class I and II	42	TON	\$15.00	\$630.00	\$18.00	\$756.00	\$30.00	\$1,260.00	\$10.00	\$420.00
4170*	Pipe Zone Bedding	135	TON	\$8.00	\$1,080.00	\$18.00	\$2,430.00	\$30.00	\$4,050.00	\$10.00	\$1,350.00
4180*	Gravel Borrow for Trench Backfill	93	TON	\$8.00	\$744.00	\$12.00	\$1,116.00	\$25.00	\$2,325.00	\$10.00	\$930.00
5005*	Traffic Control Labor	380	HR	\$1.00	\$380.00	\$38.00	\$14,440.00	\$15.00	\$5,700.00	\$34.00	\$12,920.00
5010*	Construction Signs Class A	240	SF	\$1.00	\$240.00	\$2.00	\$480.00	\$5.00	\$1,200.00	\$7.00	\$1,680.00
5015*	Traffic Control Supervisor	100	HR	\$10.00	\$1,000.00	\$45.00	\$4,500.00	\$50.00	\$5,000.00	\$42.00	\$4,200.00
5020	Temporary Traffic Control Devices	1	LS	\$54.00	\$54.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00
5030*	Portable Changeable Message Sign (PCMS)	20	DAY	\$50.00	\$1,000.00	\$80.00	\$1,600.00	\$125.00	\$2,500.00	\$112.00	\$2,240.00
5035*	Sequential Arrow Sign (SAS)	20	DAY	\$15.00	\$300.00	\$25.00	\$500.00	\$75.00	\$1,500.00	\$112.00	\$2,240.00
6025	Relocate Existing Residential Power Service Connection	1	FA	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
7000*	Seeding, Fertilizing, and Mulching	0.1	AC	\$3,000.00	\$300.00	\$3,500.00	\$350.00	\$5,000.00	\$500.00	\$2,000.00	\$200.00
7005*	Filter Fabric Fence	190	LF	\$3.50	\$665.00	\$4.00	\$760.00	\$6.00	\$1,140.00	\$4.00	\$760.00
7015	Inlet Protection	4	EA	\$53.00	\$212.00	\$50.00	\$200.00	\$60.00	\$240.00	\$65.00	\$260.00

				1		2		3		4	
CITY OF	KENT	BIDDEI	R'S	King Construct	tion	Nor Tec Const	ruction, Inc.	Reed Trucking & Excavating		Road Construc	tion NW
	NAME: North Park Storm Drainage Improvements	NAME /	AND	982 Thornton		6319 - 112th		2207 Inter Ave.,	•	P.O. BOX 188	
	NING: August 30, 2011 @ 11:00 am	ADDRE		Pacific, WA 98		Puyallup, WA		Puyallup, WA 98		Renton, WA 9	8057-0188
		TOTAL			¢17/ 170 OF		¢100 424 0F		¢222 424 00		¢227 007 04
ITEM		TOTAL			\$176,178.05 TOTAL		\$198,424.95 TOTAL		\$223,424.90 TOTAL		\$226,087.94 TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOUNT
1111											
7020*	Straw Mulch	211	SY	\$2.00	\$422.00	\$3.00	\$633.00	\$5.00	\$1,055.00	\$1.00	\$211.00
7025*	Clear Plastic Covering	100	SY	\$2.30	\$230.00	\$2.00	\$200.00	\$4.00	\$400.00	\$1.00	\$100.00
7030*	ESC Lead	20	DAY	\$100.00	\$2,000.00	\$400.00	\$8,000.00	\$100.00	\$2,000.00	\$12.00	\$240.00
7055	Temporary Erosion/Water Pollution Control	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
8005*	Topsoil Type A	7	CY	\$65.00	\$455.00	\$25.00	\$175.00	\$100.00	\$700.00	\$44.00	\$308.00
8010	Sod Installation	87	SY	\$12.00	\$1,044.00	\$7.00	\$609.00	\$15.00	\$1,305.00	\$5.00	\$435.00
8015	Bark or Wood Chip Mulch	7	CY	\$60.00	\$420.00	\$1.00	\$7.00	\$100.00	\$700.00	\$44.00	\$308.00
8020	Compost	7	CY	\$65.00	\$455.00	\$1.00	\$7.00	\$100.00	\$700.00	\$44.00	\$308.00
TOTAL S	CHEDULE I				\$73,656.00		\$84,678.00		\$100,145.00		\$100,451.00
	Sales Tax 9.5%				\$6,997.32		\$8,044.41		\$9,513.78		\$9,542.85
	Total schedule I				\$80,653.32		\$92,722.41		\$109,658.78		\$109,993.85
SCHEDU	LE II - STORM SEWER N. OF COLE STREET										
1000	Mobilization	1	LS	\$8,500.00	\$8,500.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00
1005	Clearing and Grubbing	1	LS	\$1,600.00	\$1,600.00	\$1.00	\$1.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00
1010	Remove Existing Asphalt Concrete Pavement	333	SY	\$3.40	\$1,132.20	\$9.50	\$3,163.50	\$10.00	\$3,330.00	\$11.00	\$3,663.00
1050	Saw Cut Existing Asphalt Concrete Pavement	30	LF	\$9.00	\$270.00	\$5.00	\$150.00	\$10.00	\$300.00	\$11.00	\$330.00
1080*	Crushed Surfacing Top Course, 5/8 Inch Minus	46	TON	\$49.00	\$2,254.00	\$28.00	\$1,288.00	\$30.00	\$1,380.00	\$33.00	\$1,518.00
1085	Crushed Surfacing Base Course, 1-1/4 Inch Minus	89	TON	\$20.00	\$1,780.00	\$32.00	\$2,848.00	\$30.00	\$2,670.00	\$33.00	\$2,937.00
1095	HMA Class 1/2", PG 64-22	73	TON	\$247.00	\$18,031.00	\$125.00	\$9,125.00	\$130.00	\$9,490.00	\$175.00	\$12,775.00
1125	Cold Plant Mix for Temporary Pavement Patch	37	TON	\$10.00	\$370.00	\$100.00	\$3,700.00	\$125.00	\$4,625.00	\$1.00	\$37.00
1266	Remove and Restore Chain Link Fence	1	FA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
1268	Remove and Restore Wooden Fence	1	FA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
1270*	Temporary Fencing	190	LF	\$1.00	\$190.00	\$2.00	\$380.00	\$3.00	\$570.00	\$3.00	\$570.00
1315*	Pothole Utilities	6	EA	\$500.00	\$3,000.00	\$100.00	\$600.00	\$500.00	\$3,000.00	\$323.00	\$1,938.00
1355	Minor Changes	1	CALC	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4007	Ductile Iron Cl 50 Storm Sewer Pipe, 6 Inch Diameter	22	LF	\$91.00	\$2,002.00	\$50.00	\$1,100.00		\$1,320.00	\$75.00	\$1,650.00
4012*	SDR 35 PVC Storm Sewer Pipe, 8 Inch Diameter	243	LF	\$72.00	\$17,496.00	\$46.50	\$11,299.50	\$60.00	\$14,580.00	\$106.00	\$25,758.00
4080*	Catch Basin, Type 1	6	EA	\$1,250.00	\$7,500.00	\$650.00	\$3,900.00	\$1,000.00	\$6,000.00	\$1,000.00	\$6,000.00
4115*	Bolt Down Catch Basin Frame and Grate	6	EA	\$207.00	\$1,242.00	\$250.00	\$1,500.00	\$300.00	\$1,800.00	\$500.00	\$3,000.00
4150	Shoring or Extra Excavation, Class B	728	SF	\$0.50	\$364.00	\$1.00	\$728.00	\$2.00	\$1,456.00	\$1.00	\$728.00
4155*	Foundation Material, Class I and II	41	TON	\$15.00	\$615.00	\$18.00	\$738.00		\$1,230.00	\$10.00	\$410.00

			1		2		3		4	
CITY OF KENT	BIDDER'S		King Construction				Reed Trucking &	•	Road Construction NW	
PROJECT NAME: North Park Storm Drainage Improvements	NAME A		982 Thornton		6319 - 112th		2207 Inter Ave.,		P.O. BOX 188	
BID OPENING: August 30, 2011 @ 11:00 am	ADDRE	SS	Pacific, WA 98	3047	Puyallup, WA	98373	Puyallup, WA 98	372	Renton, WA	8057-0188
	TOTAL			\$176,178.05		\$198,424.95		\$223,424.90		\$226,087.94
ITEM				TOTAL		TOTAL		TOTAL		TOTAL
NO. DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
4170* Pipe Zone Bedding	138	TON	\$8.00	\$1,104.00	\$18.00	\$2,484.00	\$30.00	\$4,140.00	\$10.00	\$1,380.00
4180* Gravel Borrow for Trench Backfill	147	TON	\$8.00	\$1,176.00	\$12.00	\$1,764.00	\$25.00	\$3,675.00	\$10.00	\$1,470.00
5005* Traffic Control Labor	380	HR	\$1.00	\$380.00	\$38.00	\$14,440.00	\$15.00	\$5,700.00	\$34.00	\$12,920.00
5010* Construction Signs Class A	240	SF	\$1.00	\$240.00	\$2.00	\$480.00	\$5.00	\$1,200.00	\$7.00	\$1,680.00
5015* Traffic Control Supervisor	100	HR	\$10.00	\$1,000.00	\$45.00	\$4,500.00	\$50.00	\$5,000.00	\$42.00	\$4,200.00
5020 Temporary Traffic Control Devices	1	LS	\$54.00	\$54.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00
5030* Portable Changeable Message Sign (PCMS)	20	DAY	\$50.00	\$1,000.00	\$80.00	\$1,600.00	\$125.00	\$2,500.00	\$112.00	\$2,240.00
5035* Sequential Arrow Sign (SAS)	20	DAY	\$15.00	\$300.00	\$25.00	\$500.00	\$75.00	\$1,500.00	\$112.00	\$2,240.00
7000* Seeding, Fertilizing, and Mulching	0.1	AC	\$3,000.00	\$300.00	\$3,500.00	\$350.00	\$5,000.00	\$500.00	\$2,000.00	\$200.00
7005* Filter Fabric Fence	200	LF	\$3.50	\$700.00	\$4.00	\$800.00	\$6.00	\$1,200.00	\$4.00	\$800.00
7020* Straw Mulch	106	SY	\$2.00	\$212.00	\$3.00	\$318.00	\$5.00	\$530.00	\$1.00	\$106.00
7025* Clear Plastic Covering	100	SY	\$2.30	\$230.00	\$2.00	\$200.00	\$4.00	\$400.00	\$1.00	\$100.00
7030* ESC Lead	20	DAY	\$100.00	\$2,000.00	\$400.00	\$8,000.00	\$100.00	\$2,000.00	\$12.00	\$240.00
7055 Temporary Erosion/Water Pollution Control	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
8005* Topsoil Type A	3	CY	\$65.00	\$195.00	\$25.00	\$75.00	\$100.00	\$300.00	\$44.00	\$132.00
TOTAL SCHEDULE II				\$87,237.20		\$96,532.00		\$103,896.00		\$106,022.00
Sales Tax 9.5%				\$8,287.53		\$9,170.54		\$9,870.12		\$10,072.09
Total Schedule II				\$95,524.73		\$105,702.54		\$113,766.12		\$116,094.09
SUMMARY										
Total Schedule I (Storm Sewer N. of James Street )				\$80,653.32		\$92,722.41		\$109,658.78		\$109,993.85
Total Schedulel II (Storm Sewer N. of Cole Street Storm Sewer)				\$95,524.73		\$105,702.54		\$113,766.12		\$116,094.09
CONSTRUCTION CONTRACT TOTAL				\$176,178.05		\$198,424.95		\$223,424.90		\$226,087.94

CITY OF KENT PROJECT NAME: North Park Storm Drainage Improvements BID OPENING: August 30, 2011 @ 11:00 am		BIDDEF NAME A ADDRE	AND	5 Ceccanti, Inc. 4116 Brookdale I Tacoma, WA 98		6 Rodarte Construc 17 E. Auburn Hw Auburn, WA 980	y East	Engineer's Estimate  Dennis Johnson		
		TOTAL			\$273,347.04		\$280,152.47		\$257,737.82	
ITEM NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL AMOUNT	UNIT PRICE	TOTAL AMOUNT		TOTAL AMOUNT	
SCHEDU	JLE I - STORM SEWER BETWEEN 5TH AVE. N. AND 4TH	AVF N								
1000	Mobilization	1	LS	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$8,000.00	\$8,000.00	
1005	Clearing and Grubbing	1	LS	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	
1020	Remove Cement Concrete Sidewalk	11	SY	\$10.00	\$110.00	\$80.00	\$880.00	\$12.00	\$132.00	
1025	Remove Cement Concrete Curb and Gutter	10	LF	\$10.00	\$100.00	\$13.00	\$130.00	\$10.00	\$100.00	
1055	Saw Cut Existing Cement Concrete Pavement	20	LF	\$20.00	\$400.00	\$8.00	\$160.00	\$7.00	\$140.00	
1080*	Crushed Surfacing Top Course, 5/8 Inch Minus	32	TON	\$40.00	\$1,280.00	\$50.00	\$1,600.00	\$25.00	\$800.00	
1135	Cement Concrete Driveway, 6 Inch Depth	6	SY	\$100.00	\$600.00	\$127.00	\$762.00	\$80.00	\$480.00	
1145	Cement Concrete Sidewalk	6	SY	\$100.00	\$600.00	\$110.00	\$660.00	\$55.00	\$330.00	
1205	Cement Concrete Curb and Gutter	15	LF	\$50.00	\$750.00	\$80.00	\$1,200.00	\$50.00	\$750.00	
1266	Remove and Restore Chain Link Fence	1	FA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	
1268	Remove and Restore Wooden Fence	1	FA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	
1270*	Temporary Fencing	190	LF	\$1.00	\$190.00	\$4.00	\$760.00	\$6.00	\$1,140.00	
1315*	Pothole Utilities	3	EA	\$350.00	\$1,050.00	\$260.00	\$780.00	\$350.00	\$1,050.00	
1355	Minor Changes	1	CALC	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
4005	SDR 35 PVC Storm Sewer Pipe, 6 Inch Diameter	6	LF	\$130.00	\$780.00	\$250.00	\$1,500.00	\$38.00	\$228.00	
4012*	SDR 35 PVC Storm Sewer Pipe, 8 Inch Diameter	312	LF	\$130.00	\$40,560.00	\$100.00	\$31,200.00	\$85.00	\$26,520.00	
4080*	Catch Basin, Type 1	5	EA	\$1,500.00	\$7,500.00	\$700.00	\$3,500.00	\$1,050.00	\$5,250.00	
4115*	Bolt Down Catch Basin Frame and Grate	5	EA	\$350.00	\$1,750.00	\$300.00	\$1,500.00	\$350.00	\$1,750.00	
4155*	Foundation Material, Class I and II	42	TON	\$30.00	\$1,260.00	\$50.00	\$2,100.00	\$25.00	\$1,050.00	
4170*	Pipe Zone Bedding	135	TON	\$22.00	\$2,970.00	\$22.00	\$2,970.00	\$25.00	\$3,375.00	
4180*	Gravel Borrow for Trench Backfill	93	TON	\$22.00	\$2,046.00	\$20.00	\$1,860.00	\$22.00	\$2,046.00	
5005*	Traffic Control Labor	380	HR	\$37.00	\$14,060.00	\$50.00	\$19,000.00	\$45.00	\$17,100.00	
5010*	Construction Signs Class A	240	SF	\$10.00	\$2,400.00	\$4.50	\$1,080.00	\$20.00	\$4,800.00	
5015*	Traffic Control Supervisor	100	HR	\$40.00	\$4,000.00	\$50.00	\$5,000.00	\$55.00	\$5,500.00	
5020	Temporary Traffic Control Devices	1	LS	\$500.00	\$500.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00	
5030*	Portable Changeable Message Sign (PCMS)	20	DAY	\$20.00	\$400.00	\$80.00	\$1,600.00	\$115.00	\$2,300.00	
5035*	Sequential Arrow Sign (SAS)	20	DAY	\$10.00	\$200.00	\$45.00	\$900.00	\$85.00	\$1,700.00	
6025	Relocate Existing Residential Power Service Connection	1	FA	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	
7000*	Seeding, Fertilizing, and Mulching	0.1	AC	\$2,000.00	\$200.00	\$8,000.00	\$800.00	\$2,500.00	\$250.00	
7005*	Filter Fabric Fence	190	LF	\$4.00	\$760.00	\$3.50	\$665.00	\$5.00	\$950.00	
7015	Inlet Protection	4	EA	\$70.00	\$280.00	\$50.00	\$200.00	\$85.00	\$340.00	

				_		Ι		1		
CITY OF KENT PROJECT NAME: North Park Storm Drainage Improvements BID OPENING: August 30, 2011 @ 11:00 am		BIDDEF	R'S	5 Ceccanti, Inc.		6 Rodarte Construc	ction	Engineer's Esti	mate	
		NAME A	AND	4116 Brookdale Rd. E.		17 E. Auburn Hw	y East	Dennis Johnson		
		ADDRE	SS			Auburn, WA 980	192			
		TOTAL			\$273,347.04		\$280,152.47		\$257,737.8	
ITEM					TOTAL		TOTAL		TOT	
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		AMOUN	
7020*	Straw Mulch	211	SY	\$1.00	\$211.00	\$3.00	\$633.00	\$3.00	\$633.0	
7025*	Clear Plastic Covering	100	SY	\$2.00	\$200.00	\$3.00	\$300.00	\$3.00	\$300.0	
7030*	ESC Lead	20	DAY	\$1.00	\$20.00	\$100.00	\$2,000.00	\$45.00	\$900.0	
7055	Temporary Erosion/Water Pollution Control	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.0	
8005*	Topsoil Type A	7	CY	\$50.00	\$350.00	\$60.00	\$420.00	\$50.00	\$350.0	
8010	Sod Installation	87	SY	\$4.00	\$348.00	\$25.00	\$2,175.00	\$12.00	\$1,044.0	
8015	Bark or Wood Chip Mulch	7	CY	\$50.00	\$350.00	\$60.00	\$420.00	\$55.00	\$385.0	
8020	Compost	7	CY	\$50.00	\$350.00	\$60.00	\$420.00	\$45.00	\$315.0	
TOTAL S	CHEDULE I				\$117,575.00		\$131,175.00		\$113,008.0	
	Sales Tax 9.5%				\$11,169.63		\$12,461.63		\$10,735.7	
	Total schedule I				\$128,744.63		\$143,636.63		\$123,743.	
SCHEDU	LE II - STORM SEWER N. OF COLE STREET									
1000	Mobilization	1	LS	\$10,000.00	\$10,000.00	\$7,750.00	\$7,750.00	\$9,000.00	\$9,000.0	
1005	Clearing and Grubbing	1	LS	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.0	
1010	Remove Existing Asphalt Concrete Pavement	333	SY	\$10.00	\$3,330.00	\$10.00	\$3,330.00	\$12.00	\$3,996.	
1050	Saw Cut Existing Asphalt Concrete Pavement	30	LF	\$20.00	\$600.00	\$4.00	\$120.00	\$7.00	\$210.0	
1080*	Crushed Surfacing Top Course, 5/8 Inch Minus	46	TON	\$40.00	\$1,840.00	\$50.00	\$2,300.00	\$25.00	\$1,150.0	
1085	Crushed Surfacing Base Course, 1-1/4 Inch Minus	89	TON	\$40.00	\$3,560.00	\$55.00	\$4,895.00	\$25.00	\$2,225.0	
1095	HMA Class 1/2", PG 64-22	73	TON	\$200.00	\$14,600.00	\$145.00	\$10,585.00	\$95.00	\$6,935.0	
1125	Cold Plant Mix for Temporary Pavement Patch	37	TON	\$35.00	\$1,295.00	\$130.00	\$4,810.00	\$105.00	\$3,885.0	
1266	Remove and Restore Chain Link Fence	1	FA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.0	
1268	Remove and Restore Wooden Fence	1	FA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.0	
1270*	Temporary Fencing	190	LF	\$1.00	\$190.00	\$4.00	\$760.00	\$6.00	\$1,140.0	
1315*	Pothole Utilities	6	EA	\$350.00	\$2,100.00	\$260.00	\$1,560.00	\$350.00	\$2,100.0	
	Minor Changes	1	CALC	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00		\$5,000.0	
4007	Ductile Iron CI 50 Storm Sewer Pipe, 6 Inch Diameter	22	LF	\$130.00	\$2,860.00	\$165.00	\$3,630.00	\$50.00	\$1,100.0	
4012*	SDR 35 PVC Storm Sewer Pipe, 8 Inch Diameter	243	LF	\$130.00	\$31,590.00	\$100.00	\$24,300.00	\$85.00	\$20,655.0	
4080*	Catch Basin, Type 1	6	EA	\$1,500.00	\$9,000.00	\$700.00	\$4,200.00	\$1,050.00	\$6,300.0	
4115*	Bolt Down Catch Basin Frame and Grate	6	EA	\$350.00	\$2,100.00	\$300.00	\$1,800.00	\$350.00	\$2,100.0	
			SF		\$1,456.00	\$1.00	\$728.00	\$0.75	\$546.0	
4150	Shoring or Extra Excavation, Class B	728	31	\$2.00	\$1,450.00	J 1.00	\$120.00	\$0.75		

				5		6			
CITY OF KENT		BIDDER'S		-		Rodarte Constru		Engineer's Est	
	NAME: North Park Storm Drainage Improvements	NAME A		4116 Brookdale Rd. E.		17 E. Auburn Hv	-	Dennis Johnso	n
BID OPEN	ING: August 30, 2011 @ 11:00 am	ADDRE	SS	Tacoma, WA 98	446	Auburn, WA 980	092		
		TOTAL			\$273,347.04		\$280,152.47		\$257,737.82
ITEM					TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		AMOUNT
4170*	Pipe Zone Bedding	138	TON	\$22.00	\$3,036.00	\$22.00	\$3,036.00	\$25.00	\$3,450.00
4180*	Gravel Borrow for Trench Backfill	147	TON	\$22.00	\$3,234.00	\$20.00	\$2,940.00	\$22.00	\$3,234.00
5005*	Traffic Control Labor	380	HR	\$37.00	\$14,060.00	\$50.00	\$19,000.00	\$45.00	\$17,100.00
5010*	Construction Signs Class A	240	SF	\$10.00	\$2,400.00	\$4.50	\$1,080.00	\$20.00	\$4,800.00
5015*	Traffic Control Supervisor	100	HR	\$40.00	\$4,000.00	\$50.00	\$5,000.00	\$55.00	\$5,500.00
5020	Temporary Traffic Control Devices	1	LS	\$500.00	\$500.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00
5030*	Portable Changeable Message Sign (PCMS)	20	DAY	\$20.00	\$400.00	\$80.00	\$1,600.00	\$115.00	\$2,300.00
5035*	Sequential Arrow Sign (SAS)	20	DAY	\$10.00	\$200.00	\$45.00	\$900.00	\$85.00	\$1,700.00
7000*	Seeding, Fertilizing, and Mulching	0.1	AC	\$2,000.00	\$200.00	\$8,000.00	\$800.00	\$2,500.00	\$250.00
7005*	Filter Fabric Fence	200	LF	\$4.00	\$800.00	\$3.50	\$700.00	\$5.00	\$1,000.00
7020*	Straw Mulch	106	SY	\$1.00	\$106.00	\$3.00	\$318.00	\$3.00	\$318.00
7025*	Clear Plastic Covering	100	SY	\$2.00	\$200.00	\$3.00	\$300.00	\$3.00	\$300.00
7030*	ESC Lead	20	DAY	\$1.00	\$20.00	\$100.00	\$2,000.00	\$45.00	\$900.00
7055	Temporary Erosion/Water Pollution Control	1	FA	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
8005*	Topsoil Type A	3	CY	\$50.00	\$150.00	\$60.00	\$180.00	\$50.00	\$150.00
TOTAL S	CHEDULE II				\$132,057.00		\$124,672.00		\$122,369.00
	Sales Tax 9.5%				\$12,545.42		\$11,843.84		\$11,625.06
	Total Schedule II				\$144,602.42		\$136,515.84		\$133,994.06
SUMMAR	Υ								
Total Sch	edule I (Storm Sewer N. of James Street )				\$128,744.63		\$143,636.63		\$123,743.76
Total Sch	eduleI II (Storm Sewer N. of Cole Street Storm Sewer)				\$144,602.42		\$136,515.84		\$133,994.06
CONSTR	JCTION CONTRACT TOTAL				\$273,347.04		\$280,152.47		\$257,737.82